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Viiee en conterte
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Vilee en conteyde

Natural-disturbance-
based management:

Within the range of
natural variation.




MiIse en conteyde

Over what spatial scale?




Size of management unit
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Maximum possible core area

Landscape fragmentation



Size of management unit

Maximum possible patch size

Landscape fragmentation




Size of management unit
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Relatively large patches of old-growth
| forest <-relatively large management
areas.




So what Is the appropriate size
of management unit?






Rypothesis

&

SCALE AT WHICH VARIATION IN AGE STRUCTURE DROPS OFF

APPROPRIATE SCALE OF MANAGEMENT




To test the hypothesis:

1.
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X 10 scenarios X 20 runs = 200 times
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x 20 for each scenario
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Re sults

Variation in % old growth (CV)
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When scenarios are
analyzed separately,
threshold varies
from ~5500-36000
ha (~1.5-12.6 x

2, | mean fire size)
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Results

Appropriate size

25000 of management
unit (threshold)
T | > mean fire size
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Results

Appropriate size of
management unit (ha)
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Otherwise, no
significant
relationship
between mean fire
size and
appropriate size of
management unit!
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Further questions



